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1. Calcule:
3

@ [ Vitidy
0
0

(b)/ Vy+1dy
-1

(c) / 3 cos® x sin wdw
0
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3
(d) / 3 cos?  sin zdx
2

Y

b5
O e

2. Calcule as seguintes int

(a) /Oz(x — 1)®dz
(b) /01 2?(1 + 22°)°dx

© [ s

(d) /15de
(o) /04(2x+1)—% dx
() /ng\/l—i——xdx

37

4
(2) / sin x cos xdx
%

W [ A
(i) /1 Vi Tds

egrais definidas:



() /dldx
(k) /ﬁ
) /ji—idw
(m) /12x1nxdx

2 cosu
——d
() /0 (14 sinz)d v

™

3
(0) / e cos xdx
0

In 3
(p) / 2e" cose’dv
1

DoE o Wi g2
c)% d)2—36 e) 2
j) 2 k) 3 ) e — /e

Respostas
d) 2 e) 0 f) % 2) a) 0
DU g0 h) 2252
m) 2ln2 — 2 n) £ 0) e—1



